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BRAE FFHDCP FTRUHIRR -
BE: AUVSRX~14
NE {52 HRE S ouT IN GROSS | HDCP NET
iER wE 40 35 15 9.0/ 66.0
201 b= 42 39 81 13.00 68.0
3 HA Bk 39 38 17 9.0/ 68.0
Mu|EE 42 40 82 13.00  69.0
SiIlFEA —& 39 39 18 9.0/ 69.0
66 ERIFF  ZR1T 38 38 16 6.00 70.0
JAVAP =% N 42 42 84 14.00 70.0
84L #BM  —# 41 40 81 10.0) 71.0
I EmR B®’E 41 317 18 6.00 72.0
106 BTH & 40 39 19 7.0 72.0
6L BE @= 42 41 83 11.0, 72.0
124z | & —BR 39 39 18 6.00 72.0
136 &EF &HA 42 42 84 12.00 72.0
146 %O Fi 40 41 81 9.00 72.0
154 #B)II - =4 39 41 80 8.0 720
164 AJIINE 41 43 84 12.00 72.0
174z | ngkE  FE] 317 43 80 8.0 720
18| KA HRE 41 39 80 7.00 73.0
1961 {85 B 40 40 80 7.00 73.0
204 |#IR &% 39 42 81 8.0 73.0
AL S 35 4 16 3.0 73.0
2247/ IUA Dy 41 41 82 8.0 740
230 AL RF 41 44 85 11.00 74.0
284 | Rk (21T 47 42 89 14.00 75.0
2561 NS RA 44 43 87 12.00  75.0
260 R#& FEAKER 45 44 89 14.00 75.0
274 | R B 41 43 84 9.0 75.0
284 |iFFT  fEER 38 42 80 5.0 75.0
A=~ 40 46 86 11.0] 75.0
304 |BiF  ZR&h 45 40 85 9.0/ 76.0
S| =+ fEH] 43 41 84 8.0/ 76.0
MU |EE B 43 43 86 10.0 76.0
33 K HIT 41 42 83 1.0 76.0
REToAE=] i 42 44 86 10.0 76.0
356L FAR (3 42 44 86 10.0 76.0
3641 FUE < 43 45 88 12.0/ 76.0
36 | &£H K 42 47 89 13.00 76.0
38| HH H¥E 45 46 91 14.00 71.0
394 JbiH Ik 43 47 90 13.00 771.0
4061 BT EHE 46 42 88 9.0/ 79.0
M6zl & 39 51 90 11.0]  79.0
4261 JK%E  PE1T 48 41 89 9.0/ 80.0
4361 AR BX 41 47 88 8.0, 80.0
44 FHh F4F 41 51 92 11.0] 81.0
451 EH ®E 39 53 92 11.0] 81.0
4661 F1H BE 44 52 96 14.00  82.0
4761 NEB  F 52 47 99 14.0,  85.0
48 FBE  EHAE] 50 48 98 13.00 85.0
4961 B EHig 49 49 98 13.0  85.
S50 |fAK {8 52 47 99 13.00  86.0
S HLE & 46 51 97 10.0 87.0
52 ¥rH  F1A 48 51 99 10.0,  89.0
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